VE4AX_b

(10f10)

ALUMINIUM RACK - TYPE DESIGNATION FORM |

AH680

CRAFTER / TGE 2017-
L3, H2, TWIN DOORS_

e

x 12

& -

45kg +ﬂ - 1|\£A38)I§g | — ggggm:: — (F) 695mm 1045mm 735mm 550mm (R)
i i i i
7 * i 7
(F) @] {Z b3 j @6 c:‘_57 558 = C—_ﬁ] : (R)
CRAFTER / TGE 2017- « 12
L3, H3, TWIN DOORS
AH680 —
K m}mmm ORI
m R
q—l—rlaq.ﬂ — | Max. @4‘_ S _@ 3 | ( )
45kg 150kg | 5920mm | (F) 695mm 1045mm 735mm 550mm
i | i i
] 2 3 4 é 4 8 9 10

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VE4AX b  "VE"8 Leg T-Track & Standard Fitting Kit, Aluminium Rack

(20f10)

AH680

CRAFTER / TGE 2017-
L3, H2, TWIN DOORS

2265mm

10, !

ﬂ 1'28": — 3650mm —— 695mm 1045mm 735mm 550mm
45kg 9 o 5920mm ——| (F) (R)
T-TRACK ROOF ONLY!
(F) (R)
CRAFTER / TGE 2017-
A H 680 L3, H3, TWIN DOORS
l550mm
| | |
+ﬂ — 1'\g8)|:g l— 3650mm — l 695mm 1045mm 735mm 550mm

45Kkg

fe—5920mMm

| (F)

(R)

T-TRACK ROOF ONLY!

(F)

(R)

Manufactured by Rhino Products Ltd in the United Kingdom

Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VE4AX_b "VE" 8 Leg T-Track & Standard Fitting Kit, Aluminium Rack (40f 10)

(1:1)

2

EXT09-004 x 8

FW037 (M8) x 32

FBOT2 (M8 x 65) X 16
“%mm ﬂ“iliwiiilli?_iili

MS168x 8 FS062 (M8 x 25) x 8

PS208 (M8) x 8 FS061 (M8 x 35) x2

105mm

MS726 x 2

PSO95x 6 PS473 x 2

PSO89 x 1 FS059 (M8 x 25) x 30 FNO23 (M8) x 24

- 13mm x 2

PSO%0 x1

CE——
PS324 x 2

=
PS023 x 8

FW002 (M8 x 25) x 8

FSO64 (M8 x 25) x 8

MS209 x 8

PS020 x 8

FTOT x 1

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VE4AX_b  "VE"8 Leg T-Track & Standard Fitting Kit, Aluminium Rack (5 of 10)

1.
?szocsz ?A/ FS062 gE'</|E3062 FE‘/ FS062

MS168 MS168 MS168

I\Psozs NPS023 = “PS023 \P5023

S S & &

—

@ —FN0Oo¢s @ ——FNO06 @ —FN006
— FW037 — FW037 — —=——FW037 — —=——FW037

—=——MS$ 168 —=— M3 168

—=—MS168

T - PS 023 e - PS ()23

%45064

g

—=-PS023

—=—PS5023

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VE4AX_b "VE"8 Leg T-Track & Standard Fitting Kit, Aluminium Rack (6 of 10)

)

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VE4AX_b "VE"8 Leg T-Track & Standard Fitting Kit, Aluminium Rack (7 of 10)

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VE4AX_b "VE"8 Leg T-Track & Standard Fitting Kit, Aluminium Rack (8 of 10)

16.

amnmeg

17.

18.

—

T@f

A
(=) (=)

<$unp @)

(=) (=)

<)y G@uunp \

|

21.

)

Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931

Manufactured by Rhino Products Ltd in the United Kingdom




VE4AX_b "VE"8 Leg T-Track & Standard Fitting Kit, Aluminium Rack (2 Of 10)

F MS168 MS168 MS168

PS095

23.

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VE4AX_b "VE"8 Leg T-Track & Standard Fitting Kit, Aluminium Rack (10 0of 10)

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VF4AX_b "VF' 8 Leg T-Track & Standard Fitting Kit, Aluminium Rack (1 0of 10)

ALUMINIUM RACK - TYPEDESIGNATION FORM |

AH681 CRAFTER / TGE 2017- @&@x13
L4, H3, TWIN DOORS
RN A "lﬂlll“‘\\
@ @ TSSOmm | l |
115mm 1125mm 1080mm 550mm
48kg i = [ | 4 e, --|_ (F) (R)
(F) 4 { g t (R
e ————— e it
] 2 3 4 5 6 7 8 9 10 11 12 13
CRAFTER / TGE 2017-
A H 682 L5, H3, TWIN DOORS &
2550mm
q—'—r'a+ﬂ = 1'\4,8% @_ A55Gmm @ v 111 1mm 1057mm 1435mm 650mm
51kg | 7450mm | (F) (R)
R
FY 4 i i‘ t(R)
T T T T
—_— = : = = = : = _—
] 2 3 4 i 6 7 8 § 10 11 12 13 14

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VF4AX_b (20f10)

CRAFTER / TGE 2017-

AH480 L3, H3, TWIN DOORS

e e e S ﬂ = 1'\\48)&'9 ~——3650mm ——| F 695mm 1045mm 735mm 550mm R
45kg fe———5920mm ———— ( ) ( )

T-TRACK ROOF ONLY!

(F) .

CRAFTER / TGE 2017-

AHL8] L4. H3, TWIN DOORS

-

+ﬂ = | 1506 «—— 4500mm —
150k
ke ° | 6880mm

T-TRACK ROOF ONLY!

(F) .

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VF4AX_b (30f10)

CRAFTER / TGE 2017-

AH682 L5 H3, TWIN DOQRE

A T W W WAL\
Max @ @ J 111 Tmm | 1057mm | 1435mm | 650mm |
oty - YR I g (R)

(F)

T-TRACK ROOF ONLY!

(R)

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VF4AX_b

"VF' 8 Leg T-Track & Standard Fitting Kit, Aluminium Rack

(40f10)

2

EXT09-004 x 8

a

MS168 x 8

MS726 x 2

PS095x 6

PSO89 x 1

PSO920 x 1

PS324 x 2

===

PS023 x 8

90mm

105mm

PS473 x 2

LAO21 x 3

FBO12 (M8 x 65) x 16

(RO

FS062 (M8 x 25) x 8

A

(1:1)

FWO037 (M8) x 32

PS208 (M8) x 8

PS020 x 8

FS059 (M8 x 25) x 32

FTO1 x 1

MS209 x 8

FNO23 (M8) x 26

FNOO6 (M8) x 26

FSO61 (M8 x 35) x 2

[

I

FW002 (M8 x 35) x 8

FS064 (M8 x 35) x 8

C <«

13mm x 2

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VF4AX_b  "VF'8 Leg T-Track & Standard Fitting Kit, Aluminium Rack (S5 of 10)

—=—F5062 —=—FS5062 <—F3062 <— FSO61

—~=——P$324
—=P3023 —=—P3023 —=-PS023 —~=——PS023
3 ¥ 3 &

- —=———FNOO6 @ ——FN00S @ —FN0o6 @B —FNO06 2
FW037 FW037 — —=——FW037 — —=——FW037

—=—MS168 —=— M3 168

—=—P5023 e -=PS023 eeee—— - PS()23

B
B ——Fs064
=
v

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VF4AX_b "VF'8 Leg T-Track & Standard Fitting Kit, Aluminium Rack (6 of 10)

YT

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VF4AX_b "VF'8 Leg T-Track & Standard Fitting Kit, Aluminium Rack (7 of 10)

30mmMIN

—

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VF4AX_b "VF'8 Leg T-Track & Standard Fitting Kit, Aluminium Rack

(80of10)

15.

16.

Smnnngs

17.

(=) (=)
< | @uunp

(=) (=)
<ump G@unmp \

\
g

(o

~12Nm

20.

Manufactured by Rhino Products Ltd in the United Kingdom

Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VF4AX_b "VF'8 Leg T-Track & Standard Fitting Kit, Aluminium Rack (9 Of 10)

MS168 MS168

F MS168

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




VF4AX_b "VF"8 Leg T-Track & Standard Fitting Kit, Aluminium Rack (10 0of 10)

Manufactured by Rhino Products Ltd in the United Kingdom
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR, UK +44 (0) 151 319 2931




	Sheet1
	Drawing View1

	Sheet2
	Drawing View38
	Drawing View39
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View46

	Sheet3(2)
	Drawing View48
	Drawing View49
	Drawing View50
	Drawing View52
	Drawing View53
	Drawing View54
	Drawing View63

	Sheet3
	Drawing View10
	Drawing View11
	Drawing View30

	Sheet5
	Sheet6
	Sheet7
	Sheet8
	Sheet10
	Sheet9
	VF4AX.pdf
	Sheet1
	Drawing View1

	Sheet2
	Drawing View38
	Drawing View39
	Drawing View42
	Drawing View48
	Drawing View49
	Drawing View68
	Drawing View69

	Sheet3(2)
	Drawing View56
	Drawing View57
	Drawing View60
	Drawing View61
	Drawing View71
	Drawing View72

	Sheet3(2)(2)
	Drawing View64
	Drawing View65
	Drawing View70

	Sheet3
	Drawing View10
	Drawing View11
	Drawing View30

	Sheet5
	Sheet6
	Sheet7
	Sheet8
	Sheet10
	Sheet9


